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QUESTION 1

Which change in the security processes is introduced by cloud computing? 

A. Increased security of accessing credit card information 

B. Regulations need to be updated more frequently 

C. Storing passwords in the Configuration Management Database (CMDB) 

D. Working with multiple providers of user identities 

Correct Answer: D 

 

QUESTION 2

Which of the following is a definition of virtualization? 

A. Virtualization is a method to organize servers in a more efficient manner to double the number of accessible users 

B. Virtualization is a set of techniques for hiding software resources behind hardware abstractions. 

C. Virtualization is a set of techniques for hiding hardware resources behind software abstractions. 

D. Virtualization is a method to structure data in a more efficient manner with less cost to the user. 

Correct Answer: C 

 

QUESTION 3

Cloud computing _____________capital cost to variable cost. 

A. increases 

B. reduces 

C. shifts 

D. equates 

Correct Answer: C 

 

QUESTION 4

Which of the following is indicated by a high number of variations of different virtual servers? 

A. Lack of an automated provisioning process of the virtual machines 

B. Lack of automation of virtual machine image manufacturing 
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C. Lack of manpower to monitor the virtual machines 

D. Lack of physical servers to accommodate the different virtual servers 

Correct Answer: B 

 

QUESTION 5

A company uses an IaaS cloud deployment model with a third-party vendor. Which of the following does the company
fully control? (Choose two.) 

A. Operating systems 

B. Physical servers 

C. Service availability 

D. Physical security 

E. Storage 

Correct Answer: AE 

 

QUESTION 6

Which of the following is MOST typically accessed through Web services? 

A. IaaS 

B. PaaS 

C. SaaS 

D. None of the above 

Correct Answer: B 

 

QUESTION 7

Which of the following would represent a successful implementation of a cloud service strategy? 

A. An organization has identified services, investments, partners, and delivery channels designed to meet
requirements. 

B. An organization has identified patterns of business activities that use services and manage activities to influence
demand. 

C. An organization has managed the investment portfolio for services available to users of the cloud services. 

D. An organization has managed budgeting and accounting for cloud services needed for the organization. 
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Correct Answer: A 

 

QUESTION 8

Which of the following is the primary way to access PaaS? 

A. Web services 

B. Websites 

C. Web hosting providers 

D. Data integrations 

Correct Answer: A 

 

QUESTION 9

Which of the following applies only to public cloud computing as opposed to outsourcing? 

A. Contracts are in years as opposed to days or months 

B. Internal IT staff move from one organization to another 

C. There are no upfront CAPEX costs for hardware 

D. Infrastructure is stored within a datacenter 

Correct Answer: C 

 

QUESTION 10

Which of the following steps BEST leads to successful adoption of a cloud service? 

A. Gather stakeholder requirements, select potentially suitable cloud providers, perform a pilot, and select the most
appropriate provider. 

B. Choose the most well known cloud provider for the given service and negotiate a short-lived contract with strong
penalty clauses. 

C. Request a list of reference sites from the potential cloud provider and interview a reference from within the same
industry sector. If the site reference check is positive, then choose the cloud provider. 

D. Workshop selection criteria items with company management and choose the service provider based on the
strongest formal responses from cloud providers. 

Correct Answer: A 

 

QUESTION 11
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All of the following are important design decisions when deploying SaaS EXCEPT: 

A. How existing company data is integrated in or migrated to the application. 

B. How the application will be integrated with other applications. 

C. The number of users that will access the application simultaneously 

D. Where or by whom will digital identities be issued for logging on to the application. 

Correct Answer: C 

 

QUESTION 12

One of the strategic reasons to source component technology purchases from multiple providers is to: 

A. avoid vendor lock-in. 

B. influence governmental organizations. 

C. keep vendor prices down. 

D. encourage vendor control. 

Correct Answer: A 

 

QUESTION 13

Which of the following describes the commonality between cloud computing and outsourcing? 

A. Shift from CAPEX to OPEX 

B. Reduced compliance cost 

C. Simplified security management 

D. Reduced system architecture complexity 

Correct Answer: A 

 

QUESTION 14

Which of the following are essential steps to take when creating a virtual server? 

A. Select a machine image to run, select an application set to run, select security credentials. 

B. Select a machine image to run, select an application set to run, select the size of the virtual machine. 

C. Select a machine image to run, select security credentials, select the size of the virtual machine. 

D. Select an application set to run, select security credentials, select the size of the virtual machine. 
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Correct Answer: C 

 

QUESTION 15

Cloud computing relies heavily on which of the following virtualization characteristics? (Select two.) 

A. User federation 

B. Hardware independence 

C. Simplistic setup 

D. Scalable resources 

E. Information sharing 

Correct Answer: BD 
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